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Candidates should attempt any 10 (ten) questions of
GROUP—A with word limit of 250 words and should
attempt any 5 (five) questions from GROUP—B
with word limit of 300 words.

ANIEl1FI69 GROUP—A § 606@16d 0T gga @aa 980 &8
(1:I6Q 99° GROUP—B ¢ 6969161d 85 ggQ 28
Moo 4R F1:IEQ 1T QY6 |

GROUP—A

1. What is/are the role(s) of hormone(s) involved in establishing the

structure and polarity in plantlets raised by plant tissue culture?
15

Q09 TYnea QIR 202109 GI96RS. (plantlets) GPR6R FREN YQ° 6INIRT
(structure and polarity) 908! QG168 2QEAINQ YAR @47

. How do viruses replicate? Describe the major steps of this process.

15
191 PR FAN FER? 1@ 9RAR U 996AAYLR €A 91 |

. What is t-test? How can it be used to statistically evaluate biological

sample sets? 15
-669 (t-test) @4? 633R AR 620gRR AR JAYIGS AR R

&
FUR NLIQ FALIR AIRD?
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10.

11

Explain the process of double fertilization in angiosperms and its
significance. 15

2IEHBICT6R QRS TCRINESAR, (fertilization) GFBI IL° ILIQ A2QY QYIS
@l

. Using appropriate examples, describe the utility of plants for the

supply of ‘energy plantations’ as substitutes of the sources of non-
renewable energy. 15

QOYS AQILAE 69R ‘98 QUERAIUS’ (energy plantations) @ 6QIGIE AR
2609090 206QIfelq 2R0HE QIR IR8 N6 AR &Q |

What is transduction? Explain the mechanism of transduction in
bacterial cells. 15

QIQee% (transduction) @67 1914 6RIVGLRER FIFLIR. @ VAR 6P
QY16 @R |

Discuss in detail, the classification and distribution of gymnosperms
in India. 15

QUGER P6¢]1AGPRR AT 1RAE I8° 4R FVAER FLE NER UIERISR !Q |

. Explain the importance and role of plantibodies-mediated phyto

immunology. 15
QERE-601G966@, TIRESI-AFYERIERIRF (plantibodies-mediated phyto
immunology) @ Q] 1e° §FRI I ! |

Describe the ecological significance of algae, giving suitable
examples. Elaborate upon algal associations in the ecosystem. 15

QYYD AL 6@ algae Q REae1e e Q@Ql @9 | RERITIN6R algal
association 969 9210 96 6M |

Differentiate between cybrids and hybrids. Explain. 15
Cybrid 99° hybrid @@ F1I6Q QIdiay @'€? 982 |
What are the primary mechanical tissues found in plants? Explain

the anatomy of the major mechanical tissues and their mechanisms
of formation. 15

adeg@aca glafie aIde §990% @47 gq¢¥ Jae §49ee@a anatomy
Q9° 6AgGRQ S106 EING YISy ! |
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12.

13.

14.

15.

16.

1T

How did bryophytes gradually evolve from aquatic algae? Explain
the transitional events. 15

Aquatic algae § bryophytes @08 998© 62@I? Transitional Q€IS
Qe |

GROUP—B

Write a detailed note comparing the anatomy of C3 and C, plants.
20

C, ¥9° C, & anatomy Q@RI @3 1@ 390 G4 6ad |

What is a herbarium? What is the importance of maintaining
herbarium for plant specimens? Explain the protocol for preparing
Herbarium sheets. 20

Herbarium @'€? @99 4! QI herbarium QA4I6LVEIQ 9] X4I?
herbarium sheet g0 @aa! gIQl 6gI6SIRR, IS @9 |

Discuss in detail, the characteristic features of the Cucurbitaceae
family. 20

Cucurbitaceae family & 98Q60 63dGLP VAR I9Q QIE 2IEMOR!
QA |

What are lichens? Mention their various thallus types, modes of
reproduction and ecological significance. 20

‘Lichen’ g@@ @d1? 629200 382 AIRQ IR, LR AUl 98° AG69eQ
F1eQ YIAER QRS 9 |

How can plant sources be employed as sources of narcotics and
insecticides? Use relevant examples to support your answer. 20

Narcotics U° insecticides @ Q2§60 @0 @8@ QAPPSR FEAIFE 621QIAR?
PP 2eR A0VEA JIATR A28 @2 |
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18. Explain the process of somatic embryogenesis. What are its different | Candidate
types? Discuss the significance and application of somatic| mustnot
embryogenesis. ‘ 20| writeon

) ) s p— = this margin.
Somatic embryogenesis g@@dl QUG @Q | ILIQ YWNR JIQGLe @67
Somatic embryogenesis Q ¢12Q 9° {eQldl UAER AR FQ |
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